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| Time:30 Minutes | Paper Math8(T-1) |  Total Marks: 25 |

| 5th Month, 4th Week, 5th Day | Revision Test (4th week) |
Q.1 Choose the correct option (1x6=6) - /.,«l‘i".'lb/b.«b?c‘d)
(i) A point which tells, where to draw an enlargement is called:
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(a) [ rotation cﬁi/ (b) | centre of rotation }'}Ku%/

(c) | centre of enlargement //KL >/ | (d) | transformation ‘%WU’

(ii) The sum of the measures of any two sides of a triangle is always
the measure of its third side.
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(a) | less than L’M( (b) [ greater than CseoslJ

(¢) | equal to (52414 | (d) [less than or equal to L'!Z/.'/.&[
(iii) Every triangle is congruent to: -c"_‘f (Pads .
(a) [congruent gﬁ?’ (b) [similar u’"w..g (¢) |rotation uﬁ:j/ (@) litself =308
(iv) The sum of interior angles of a triangle is: -f_ma,féug,u&,méw
@] 6 || 90 o] 180° |@| 3600 |

v) In the size and shape of te figure does not change.
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(a) | transformation u%lé/"/b (b) [ rotation J%;/
(c) | enlargement (FETY (d) [ triangle &L
(vi) If the objects and figures have exactly the same shaps and size then they
are called. - e 17 l//;ly Jf.,“ﬁ/’ l//;le_'/l,zjl

(a) | similar objects &E{}'@u’g (b) | congruent object &E?}'JLU“
(¢) | transformation ‘%WU’ (d) [ rotation /g Lf::/
Q.2. Answer the following questions. (2 x 2=4) - )....Ai[_.:«vlf‘f" B[O

(i) Construct APQR, when mPQ =4.6cm, mQR =9.8cm and m £ Q = 90°

-xm £ Q = 90°,5/mQR=9.8cm, mPQ=4.6cm S} :PQR&A>

(ii) Draw angle bisector of any suitable size of a triangle.
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Q.3. Enlarge the shaded shape with scale factor 3 about the point. Q)]
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Q.4. Rotat 90° clockwise about the origin A (1,-2), B(0,2), C (3,2), D(3,-3). (5)
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Q.5. Construct the following triangles with the help of a ruler and a compass. (5)
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(a) ALMN, when mLM = 5.8cm, mLM = 8cm and mNM= 8cm

(b) APQR, when mMQ =5.7cm, mQR = 3.5¢cm and m£Q = 75°



